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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 Give the answers of the following questions:

	 {ZåZ àíZm| Ho$ CÎma Xr{OE&

	 (i)	 Define ‘Change in Stock’. 

		  "ñQ>m°H$ ‘| n[adV©Z' H$mo n[a^m{fV H$s{OE&

	 (ii)	 Write difference between Ex-qute and Expost investment.

		  àË¶m{eV VWm dmñV{dH$ {d{Z¶moJ Ho$ ‘Ü¶ AÝVa {b{IE&

	 (iii)	 What do you mean by ‘Leakage’ in circular flow of income.

		  Am¶ Ho$ MH«$s¶ àdmh ‘| "jaU' go Amn ³¶m g‘PVo h¢?

	 (iv)	 Write the meaning of ‘Balance of payment’.

		  "^wJVmZ gÝVwbZ' H$m AW© {b{IE&

	 (v)	 What do you mean by Monetary Policy?

		  ‘m¡{ÐH$ Zr{V go Amn ³¶m g‘PVo h¡?

	 (vi)	 Define ‘Class Struggle’.

		  "dJ©-g§Kf©' H$mo n[a^m{fV H$s{OE&

	 (vii)	What do you mean by Neutral Technical progress?

		  VQ>ñW VH$ZrH$s àJ{V go Amn ³¶m g‘PVo h¡?

	 (viii)	Explain Keynesian Range in IS-LM Model.

	 	 IS-LM {gÜXmÝV ‘| H|$Or¶Z aoÝO (4 amg) H$mo g‘PmBE&
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Discuss the various difficulties in calculation of national income 

in developing countries.

	 amîQ´>r¶ Am¶ H$mo ‘mnZo Ho$ gå~§Y ‘| {dH$mgerb Xoem| ‘| AmZo dmbr {d{^ÝZ 
H${R>ZmB¶m| H$m dU©Z H$a|&

3)	 Explain the concept of multiplier.

	 JwUH$ H$s AdYmaUm H$mo ñnîQ> H$s{OE&

4)	 Discuss the cambridge equation of the quantity theory of money.

	 ‘wÐm n[a‘mU {gÕmÝV Ho$ H¡$på~«O g‘rH$aU H$s {ddoMZm H$s{OE&

5)	 Explain the structure of balance of payment account.

	 ^wJVmZ gÝVwbZ boIo H$s g§aMZm H$m dU©Z H$s{OE&

6)	 Write a short note on Anti-Inflationary policies.

	 ñ’$s{V-{damoYr Zr{V¶m| na EH$ g§{jßV {Q>ßnUr {b{IE&

7)	 Explain the ‘Theory of surplus value’ given by Karl Marx.

	 H$mb© ‘m³g© Ûmam à{Vnm{XV "A{VaoH$ ‘yë¶ Ho$ {gÕmÝV' H$mo g‘PmBE&
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8)	 Discuss the John Robinson’s model of economic development.

	 Am{W©H$ {dH$mg Ho$ Om°Z am{~ÝgZ ‘m°S>b H$s ì¶m»¶m H$s{OE&

9)	 Describe the main objectives of monetary policy in a developing 

country.

	 EH$ {dH$mgerb amîQ´> ‘| ‘m¡{ÐH$ Zr{V Ho$ à‘wI CÔoí¶m| H$s ì¶m»¶m 
H$s{OE&

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Describe the keynesian model of income determination through 

the aggregate demand and aggregate supply approach.

	 H$sÝg Ho$ Am¶ {ZYm©aU Ho$ à{Vén H$m dU©Z g‘J« ‘m§J VWm g‘J« ny{V© 
ÑpîQ>H$moU go H$s{OE&

11)	 Explain in detail the keynesian quantity theory of money.

	 H$sÝg Ho$ ‘wÐm ‘m±J {gÜXmÝV H$s {dñV¥V ì¶m»¶m H$s{OE&
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12)	 Write short notes on any two :

	 {H$Ýht Xmo na g§{jßV {Q>ßnUr¶m± {b{IE :

	 (i)	 Inflationary and deflationary gap.

		  ñ’$s{VH$maH$ Ed§ Anñ’$s{VH$maH$ AÝVamb&

	 (ii)	 Aggregate demand and aggregate supply function in  

	 classical system.

		  ³bm{gH$b àUmbr ‘| g‘ñV ‘m±J Ed§ g‘ñV ny{V© ’$bZ&
	 (iii)	 Fixed and flexible exchange rate.

		  pñWa Ed§ bMrbr {d{Z‘¶ Xa&

13)	 Generation of trade cycles depends upon interaction of 

multiplier and accelerator. In the light of this statement explain 

the trade cycle model of Samuelson.

	 ì¶mnma MH«$m| H$m OÝ‘, JwUH$ Ed§ ËdaH$ H$s AÝV: {H«$¶mAm| na {Z^©a H$aVm 
h¡& Bg H$WZ Ho$ àH$me ‘| go‘wAbgZ Ho$ ì¶mnma MH«$ ‘m°S>b H$mo g‘PmBE&


